1031 FNO: XpCC4307 NH1Ver.3.0/R.2.0
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@ €Y)
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KG3 =  1.500 95.1  kVA 4
KG4 =  0.150 200 V 50 Hz
xd'g = 0.250 0.800 1,500 min -1
E = 0.250
ng = 0.867 “
( )
® 114.7 kW { 156.0  PS}
e = 1.000 —
v - 1.000 1,500 min
= 0.250
®) 1.300
O]
**) = 1.000
**d = 1.000
**:
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-2 >
(kw)
M2 M3 M*2 M*3
| mi (k) R-S | S-T | T-R
KVA Mp (ki) <A> <B> <C> <D>
11/ F-L |ML 7.50 7.50 | Y 0.00 0.00 0.00 7.50 35.73 25.59 15.15 13.06
2/ F-L |SCN 45.00 45.00 | SC 0.00 0.00 0.00 45.00 80.36 16.86 1.53 | -11.35
3|/ F ML 15.00 15.00 | Y 0.00 0.00 0.00 15.00 | 71.46 51.16 23.15 18.95
K= 67.50 0.00 | 0.00 | 0.00 <A> <> <> <D>
: A= 0.00
- 8= 0.00 mi=M2= | mi=M3= | mi=M"2= | mi=ht3=
2 C= 0.00 45.00 | 15.00 | 15.00 | 15.00
<A>:=ks/Z"m>mi <B>:={ks/Z"m-d/(Nb><cosOb)}><mi <C>:={ks/Z"m><cosOs-(£- )><d/nb}>=mni <D>:=(ks/Z"m>=<cosOs-d/Nb) ><mi

uv/n
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1

1

RG1 = <D ><Sf x = > 1.000 > 1.000 < ————— = 1.403 RG1
n cosOg 0.891 0.800
P=A+B-2C = 000+ 0.00 -2 0.00 = 0.00
_ (A -C) _ ( 0.0- 0.00)
U= = = 000 1.000 1.403
- P P N2 2
Sf = 1+ ‘ +(T) < (1-3u +3u ‘)
. q/ 1+ 0.00 , 000 y2 1 _3x 1000 +3> 1.000 2) = 1.000
67.50 67.50
RG2 - (1- E) > xd"g > _ ks > M2 RG2
E Z'm K 0.893
(0) o (1- 0.250) ey s _0-250 45.00 _ [ gos
0.250 0.140 67.50
fvl d M3 ks M3
- > > 1- + >
RG3 KG3 { (Nb > cosBbh) ( K ) z'm K } RG3
o Lo . 1.000 < (1- 15.00 y . 0.667 .  15.00 , 1.408
1.500 (0.894 > 0.826 ) 67.50 0.140 67.50
= 1.408
1 1 x«/(H-RAF Yoz A s B oxs G0 3213y +3u 2)
K KG4 ni><cosOi Ni><cosOi nNi><cosOi
RG4 RG4
R6i > hki 2 R3i > hki 2
H = hb X «/ > + > > hph
{ (ni >< cosOi I¥ed ( nNi > cosOi ) P } 0.000
S SO xq/( 0.00- 0.00)%+ ( 0.00 )= (1-3> 1.000 +3 > 1.000 2)
67.50  0.150
= 0.000
RG = RG< 3 >= 1.408 RG1,RG2,RG3,RG4 RG 1.408
G 6" = RG < K = 1.408 > 67.50 =  95.03  (KVA) G 6= 95.1 (kVA)
G 95
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-4 >
RE1 = (Ll y=Dx ()= (1 yx1.000 = (I )=1.205 REL  1.205
nL ng 0.891 0.867 -
1 fv2 d M*2 ks M=2
= > > s - a)x_"1 x (1 - + > (2 =< RE2
RE2 s ng- t( ) nb ( K ) Z*m cosHs K
- 1 . 1.000 < { (1.000 - 0.250 ) 1.000 (1- 15.00 )
1.000 0.824 0.894 67.50 1.435
0.667 15.00
+ > 0.500 >
0.140 67.50
= 1.435
1 fv3 d M"3 ks M"3
= > < < (1- + > cosOs < RE3
RES Y ng- { nb ( K ) zZ'm K ¥
- 1 » 1.000 < { 1.000 < (1- 15.00 ) + 0.667 . gsgp . 15-00 3 1.699
1.000 0.824 0.894 67.50 0.140 67.50
= 1.699
RE = RE< 3 > = 1.699 RE1,RE2,RE3 RE 1.699
£ E" =RE < K = 1.699 >  67.50 = 114.68 (kW)
MR = E* =Ny = 114.68 =< 0.867 = 1.300
G > cosBg 95.1 =< 0.800
MR® = 1.300 E* = 114.68 (kW)
E MR =  1.300 E= 114.7 (kW)
E= 114.7 (KW
G = 95.1  (kVA) = 0.800 ( )
156.0 (PS)

E*



